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i) J0000o0OoOo0o0o0ooooooooooo

a) 3 + 23 + 23

b) df(zy,29,23). 100 dO0O0O0OODOOO
ii) Kronecker 1000 000000000000,6;000000000.
) 6,4, 0000000
iv) 005, 0000000
) (8j2:)(Bpz;) = 63 OOODDODOOO
vi) 00000 (7.17)0000000.

vii) 0000000000000, 46, €5 0 0000000000000O000O0O. O
0000000, 4, g 000000000000000.

a) 00000000000 BxA=—-AXxB,
b) 00O0O0O0O0O0OOOOOOO

A-(BxC) = B-(CxA)=C-(AxB),
Viii) 5ijk5ilm:5jl6km_5jm6kl gooooo.

ix) 00000 Lagrange 000000000 v-Vo O,
Lo o
v-Vo=V §|v| +wxwv (1)
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0000000000000000 BernoulliDOOOO000000000000
X) Vx(SA)=(VS)xA+S(VxA) DOOOOOOOODODOOOOO0O
xi) Vx(V¢)=00000000000000000

xii) V- (Vx A)=00000000000000000



